FAF AN FI0THEER 123 % Z AR 45)FF
BABP AL Z

25 & T K

2ROKEES §

A e 2%

oo 1w | 2w | saw | 4k | Sk | 6k | #m
¥ 1 27045035701 Oz | 708 204 | 706 Ok | 109 RO %
= 5 22.28 17.43 28. 31 Gl 25. 68
AN A 2 1 4 3
% 2 & T04 O | 701 £ O3 | 708 20% | 707 10O+
£ % X 30. 50 24. 14 19.19
K= *
25 2 ¢
(13486 %)
VAN RSN 3 2 1
% 3 & 708 ¥ O& | T10 £ Oz | 701 820°% | 706 O3z
= | 22.43 23.40 27.83 17.99
VAN Ry 2 3 4 1




FAF2RWNFEYFI0TEE R 123 % £ 1R 4 5FH

2RORIERERP IR LAEP LA
25 2 T Hk
P 1k 2 ki 3 ki 4-kE 5 ki 6 -k L=
% 1 = (701 Qs | 701 2507 | 7070 | 7043 O | 702 + O
Eb | 18. 63 16. 37 26. 05 21.25 20. 01
I 2 1 5 4 3
N 1 §
% 2 & |704 204 | 703 +Oi= | 706 ++O-® | 704 2Ok | 706 % O
= 3 27.79 19. 31 23.29 29. 46 24. 43
IR 4 1 2 5 3
v = 4 ®- 7
95 & T i
% 3 &= |T09% O | 701 HOR | 710 202 | 707 ++O% | 703 38O (£19 456 %)
= % X 21. 37 38. 72 23.90 22. 32
PR | 1 3 2
¥ 4 e 7023% O |7085%0O% [707 % OA | 709 AO4
= 5 20. 00 17. 81 26. 62 Bl
e R 2 1 3
o= 3) 2




FAF AN FI0THEER 123 % Z AR 45)FF

2ROk FPERERP MR AAD &AL A

25 2 € Pk :
0 ] 1-kg | 2k | 3kg | AkE | BkE | 6kE %3
% 1 280320 @ [806% O |8013%0O%F |804:=0% [809%OF
= 5 24. 69 28.11 23. 80 23.70 s
AN A 3 4 2 1
- =X
% 2 280572 O | 807 é#Oi% 804 +O4r | 808 F O= [ 803 MOz
= % =S 27.29 Bl 26. 14 i
AN AN 2 1
% 3 = (807TAEQOZ |80558O% | 806 FOE 803 % OF |80620> B~ &

. PE - R 25 = & A
=Y K 21. 34 21.02 G 46. 94 23.79 (594 456 2)
AN R AN 2 1 4 3 IR

95 & T H Ak

? . 5 4 (21431 1%)
¥ 4 = |809FO%_|807TXOm |8083FxO3 |80l mO=% | 802 MmO
= % =S 20.03 Hal 25. 80 24. 21
AN A 1 3 2
% b & (804%O= 809 iﬁiOIé?J 808 x5 (=% | 801 +O% | 907 % O
= 5 23.53 23.05 20. 30 17.68 19. 69
AN RN 5 4 3 1 2




FAF AN FI0THEER 123 % Z AR 45)FF

2RI EHERCINRBAAD R L E
25 2 T Fk
if = . . . . . . s

0 ] 1-kg | 2k | 3kg | AkE | BkE | 6kE %3

% 1 2 |809mO% |807+O#% | 801 2 OF | 802 #O= | 808 mO43 | 806 $O4F

= 5 21. 20 24.24 19. 52 16.71 19.73 31.78

AN RN 4 5} 2 1 3 6

L = 4

$ 2 | 804 32O% | 801 A0k | 809 58Ok | 808 Ok | 806 MO | 803 £ O4

& | 32,98 22. 74 19. 28 29. 47 14. 69 25. 55

AN A 6 3 2 5 1 4

¢ = 1 P
25 2 &

% 3 i |806% O | 807 MOk | 801 ZOF | 803 2O | 808 # O | 804 Qi | (23156 2)

S X 19.19 16. 57 21. 32 21. 93 20. 40

AN A 2 1 4 5 3

% 4 809 %O | 802 OB | 804 O~ | 807 #O1a | 803 i O

¥ | 1759 15. 52 25. 95 17. 32 21.94

VAN Ry 3 1 5) 2 4

¥ 1 & 907 v O& | 908 2 O | 907 £ O2 | 908 MOk

= % 21.06 14.40 12. 46 18.12 B4 9
25 o R EF A

ARy 4 9 1 3 (#4132 %)




éjﬂiféﬂ? B mdF
kb iER

50 2 © 3k

1
LR

0TEER 123 % 2 RR :5)5H
BAEP EAZ

i =

ww 17k 27KE 3 ki 4-kE 0k 6 ki =

% 1 =2 |T07EO2 70640 109205 |01 Oz 104082

EN % X 35. 93 38. 55 39. 25 58. 54

AN RN 1 2 3 4

& = | 2 3 B
50 2 © &

¥ 2 2 |T706MO% 701 20% [T08 % Ok [ 7044+ O%% | TI0 O+t | 701 £ OF | (£ 11455 %)

ES 5 X 56. 94 ol. 68 X 63. 95 57.42

AN A 2 1 4 3

£ & 3 4

F 1 = ]70140% 7105 OB | 706 +:O® | 704 ¥ O | 109 Of> | T03E O=

ES 5 38.93 49. 61 92.73 43. 24 49. 63 37.99

VAN RN 2 4 6 3 6} 1

e =0 A4 § 3

¥ 2 &2 |T01HOR | 7045 O |T08%O% | 706 % O | 7102 # O | 107 HO%

ES | 52. 50 46. 49 37.94 96. 81 X 82.91 B 9
50 2 & ik

N 3 9 1 4 5 (17456 ¢)

v = 2

¥ 3 = (70602 (701 5O | 708 O | 702 4O 7™ | 704 2 OX

= % 5l.55 52.06 31. 33 48. 33 39. 95

A A 4 5 1 3 2

S 1 d




FAF2RWNFEYFI0TEE R 123 % £ 1R 4 5FH

2RORPERERY INRAFD ELSE
50 & = & ¢
) 1 -k 2 ki 3 ki 4-kE 5 -k 6 ki B3
%01 2|80720% |803mO% | 806 58Ok | 804 O3 | 808 £ O
& % 69.33 B 65. 51 89. 83 X
A R 2 1 3
z
$ 02 2 [8099 O= | 808 EO®H | 801 #O% | 807 %O | 804 :#O%
et % | 55.68 76. 39 Hi HiB 79. 39
NI 1 2 3
f" = 5 @],\_Q
50 ALY :}’-j:\*/'ﬁ\'
¥ 3 w806 EOE | 801 £FO% | 804 #O4_| 809 %O | 807 £ O (r2bembe)
& 5| #E 50. 10 i i 50. 20
AN AN 1 2
% 4 w2 |808FO% 80350 |809%O1% |80l FO% 80230 | 806 % Oxf
& # | 74.65 66. 61 66. 76 49. 09 51. 39 59. 70
AN RN 6 4 5 1 2 3




FAF AN FI0THEER 123 % Z AR 45)FF

2RORIERERP IR LAEP LA
50 = = & ¢
‘lﬁz’t s s > . . 3 3 S

o) 1k | 20k 3k | 4k 5k | 6k %3

5 1 2803 2O% 806 +HOM | 809380k | 801 £ | 807 O R | 908 Ok

2 % 83.41 48. 60 A7. 43 45. 14 36. 03 42. 83

PR 6 5 4 3 1 9

¥ 2 2 803% O | 806 HOR | 807204 | 809 # Ot | 808 mO4 | 804 EO 1

& % | 59.96 62. 21 57.33 41. 35 41. 38 i

PR 4 5 3 1 2
B~ g

, B 50 2 & Bk

v - 5 6 (£22 456 2)

5 3 802+ [808 % OfF | 809 HO# | 807 F O£ | 801 20k | 804 #nOz | WL 7
50 2 & Bk
(£ 2481 %)

& % | 37.86 49. 20 61.38 45.78 41.14 i

AN A 1 4 5 3 2

% 4 2 |806O% | 808 81Ok | 804 OiE | 803 O | 801 Oz | 907 £ O 2

& | 33.24 76. 42 72. 69 X 48. 92 26. 81

AN A 2 5 4 3 1




FAF2RWNFEYFI0TEE R 123 % £ 1R 4 5FH

2RI EHERCINRBAAD R L E
25 2 T gk
iﬁ:’z 1y s IS » v , 3 , vy 5 S

o ] 1 ki 2 ki 3k 4k 5k 6 ki L

E 705 % OrF | 708 2O [ 104502 | 710 2 OfF

S i 47. 24 g 34.01 - &
25 = R g

PR 9 1 (£4432 %)

£ = 2 1

% 1 2|70420% | 706 £O% | 702+ O | 108 O | 704 £ O

& & | 268l 38.18 24.58 21.79 48. 54

LI 3 4 2 I 5

£ X 4 1 ®- g
25 2 % ik

¥ 3 & 70835 0% |04 %Ok | 103 £O | T10 O 2 (2945 2)

N 23.17 39. 20 21.79 25. 89

VAN RN 2 4 1 3

% 1 | 8072 O® 806 +O1: | 805=8O% | 804 % Ol | 806 2 O%

& F | 32.33 26. 63 28. 69 32. 20 33.95

PR 1 1 2 3 3 B~

, ] 25 = R EA

z =N 2 3 (£ 9434 %)

$ 2 =(80620% |802%0% 8042 O | 801 mO% | 907 % O 1~
25 = R gEA

| 32,01 26. 40 Hi 31.14 26. 43 Fremie

Akt 4 1 3 2




FAF AN FI0THEER 123 % Z AR 45)FF

25 o ® 3k

BHOK

A e 2%

BAIEP EALZ

1 =X . N N s
oo Lk | 2k | sk | 4ke | Ske | 6ky | A
¥ 1 2801 O [807T O£ 803 O | 808 mO% | 806 MO
& 5 23. 27 27.53 34.54 20.54 20. 66
AN R A 3 4 5 1 2
R~ 7
L & 4 ) 3 25 2 ¢ kit
(28424 %)
$ 2 = 804302 | 80940~ | 802 MO | 907 £ O | 908 2 Or | 907 8 OR 25@2% ik
(£#3+21¢%)
£ 5 42. 30 30. 63 20. 47 15. 60 22. 62 27.63
VAN A 6 ) 2 | 3 4




FAPEAMFE RITHEER 123 % £ A A7)FH

2ROk ERERY B AEP B AL
50 2 = gk -
wu 1k 27k 3 ki 4-k§ Ok 6k L
¥ 1 &2 |70920% 707 £0%% | 710 707 | 704 +O*% | 907 % Ok
K- 4
‘ N 50 2 & gk
& | 5812 X 50. 38 X 54. 56 it iseg
RN 3 1 ) B4
50 2 % gk
i ) (31451 %)
x| 2 ] ]
F 1 2908 2O | 704 2O0% | 7074 0% | 708 O | 9078 Ok
®- 9
$ % | 4763 | 60.64 | 67.52 | 4573 | 61.72 O
S RSN b 3 5 1 4 Bt 3
50 2 < gk
» .. (22451 %)
| ]
F 1 2 ]80638O2 [809¢ O= |801:#O% | 806 +Ot- | 804 :xO% | 802 O
= 5 101.12 13. 38 Hal 57. 65 i 53. 63 B~ &
50 2 < gk
A Ay 4 3 9 1 (26453 2%)
F 01 2|80l OF|807TmOR |803mO%k | 808 mO= | 802 OB | 8042 Ot
= % 49. 87 50. 25 Fi 45. 58 45. 56 76. 04 B~ g
50 2 < gk
R 3 4 9 1 5 (26+23¢%)

10




